
Frtvr (ro ro r t srq' ) 
' 
*i{r$ mFeor{qsqfrqTrd frFraoriremfefirafrqdf

{ UIR sid qr vfrvrd tqqr rrqr t Es nrfu+r trr arrT:l6 .r* qr} Frqfrfur crn } Tff
AFqS. 1*o$"etovfrqn, zoro;

qd qfrqn d fsFrrr ori am frfira furrif t cTR siet o,T cfr{rd

1. srfr ffi i $d fr-or+'r C+1o.1l{.r ffi sid{R 3tfi trd ?

(a)78% (b) 69% (c) 75% (A 7% @) 65%
2. B+ oiffi dpn rrFrd i srqi+l6r qtr arn r+ F{ Fqrif tyrqi+lhtrif6-il{rqfrrt?

(a\ 24 (b) 17 (c) l s (d) 2s C) {{q t +ti i-d
3. ^a+ rl,trd +ylqf+ss+ffi b crqiqi qr ffi qfryrd t ?

(a) 45o/o (b) ss% (c) s0% (d) 600/. (r) {+i t +ti rd
4. D 6) Et{6rs ren r1'i-€ d fq-drs{ nrd rid qr qfrw fr-il{ t z

(o\ 73 4% (b) 72 E% (c) 70.s% (d) 68.8% G) F{ii i +tg T(t
5. i{dn t €rfr Eri or srtsd yrqiq, f+-f,fl t ?

(a)77.16 (b) 120.s (c) 118 (O tzt G) {{C i qfi Tfr

r. (4 : c+ s$ fqqt t- fiqd yrqi6 =( r, * ru * .? *r so * l! -roo+ !x rso+ !9r+0 |( r00 t00 100 t00 )

3lrfre 70=

2. (a) : a * eif$ <in rFrd + Ee yr<i*. =

F6' eiffi drn rTFrd o O-a crqi6' =
eilfiq grm : 1229 - 1s6): 24.

: ('75 + 56 + 108 + 45 + 112.5 + 32): 428.5

=71.4%=71% @tcJt.
428.5 

,100
600 )"

88+ 
88 

x15o
100

85+ 
74 

x 150
100

= (88 + 132) = 220

tcqq siffi ffi Fc-{r" FFilErq IIfrTd -I+d

wf6 100 100 150 60 150 40

ErtJ
A 68 75 82 60 96 55

B 88 73 85 65 88 65

C '75 56 72 75 '75 80

D 70 66 80 80 72

E 72 60 68 74 68 75

F 85 70 90 70 74 '70

Ei,rnqFir*Ed

67s

=(85.+lll)=196



6i6r.i:rg{iiiiFiiiiar.:::,'

3. (c) : Et {tse fr vrqi+, =

E+ffidcrqis:60.
sr$E "/" =f 

30 xloo\r" = so"o.
\60 )

a. 1b,) : D * !la-6m aefl T'ilf, 6 giE clqi6 =

$E ei?6 = (60 + 40) : loo.
qfiq Yo = 72 go/"'

s. (e) : l+*n t ef ori t. <iql a tq

(#,,,. ).[#"rso).(ffi 
,rso).(#,,,,). (#,rso).(ff ,rso)

= (123 +127 5 + 108+ 120+ 102 + 135) = 715. 5

3iafre stsd vrqi6 =115 
5 

=ttg-zs.
6

firfu ( co co 6 t rorfi ) , **st$iledrq,r{frrnqddo: frfir<uqFrq}umP<fiia
FrSdf qt {qr ( f,qril { ) + G t. S( mFror ar qr<q*o qqm q,rh Frqfrafua sw} t
Yfi({fui. (taQo*oqtqn, zoto)

fr,rc q{ { e tfim qqfrdi am Ffila Yo Fq} q1 {qr ( f,qr+ d )

6. sd 2008 { q.q'fi rEr{r fifid {6r+it 61 {qr i nrsd q{ +1gen d ffi rtoffi qk E{ z

(<vrcq t z oidt il€Wfs()
(a)313% (b) 3'62% (c) 4'3s% (d) 4'16% (r){rqt+tiTd

7. qd 2004 nr q{ 2007 fr grd fudr6{ mqfi o arn ftffi'o r+rtd ql srtsd fs-fl{r t ?

(a) 146s0 (D) l57so (c) 137s0 (d) 16470 (,) 5rq- t'uti T€f

E, sC 2009 i q,qfr 7 iln 6 Er(l frtfn Fairtdt +1 gR {et s't yS q{ $''qn 6 6elr D ERr frfrfd
gmfel +t gn riql i Fqvr: ffi-f,{r eEcrd t ?

(a)312:329 (b) 3r7 :311 (c) 329:312 (d) 311 :317 (r)Edt+{Td

75 
x+o

100
=30

( jq"*)-l.j' xa0'l=(48+24 E)= 72 Efroo J \roo )'

M.9 ril:3 166

w
'1S:6.,.



9. sd 2005 i +qfr a sm fifiia {sTirif 6i der (m qtr t fi-flo{ ss+ Ertr f{Fid F6r{df 41
gn {er an elw frdi ytd$r t ?

(a) 3t% (b) 27% (c) 7o/o (O ts% (e) 23%
10. qtt Ed i EiE fr 'dTsr +-q+ CERr frtrn E+,d'i El {@r ffi t 7

(a) 783 (D) 7830 (c) 7E300 (d) 783000 (") Fdfr t 6t{ T6t

6. (a) : sd 2007i 6'c-fi rERr frF{dEfiriqf = (16.1 x 1000)= 16100
qd zoot fr +qfr .Errr tfdd {6rtqi: (16.7 x 1000):16700

srt€ Ck %= 6oo xtoo
16100 t6t =3.726% =3.73%

600

7. (r): sd 2oo4 aer 2007 t offi 2 6Rr fifila f+6c) 6r stsd

E. (c):

9. (:4:

10. (c):

_ (16.2 + 15.3)x 1000 31 .5x t000

z 
_=___ 

2 =(15.75x1000) =15750

ed zool { 6 + 8) 61 $a {6rtqi = 06.2 + t6..1) x 1OO0 : 32900.
q{ zooS tt (C + D) 61 $o Ymr{d = (14.9 + 16.3) x tooo : 31200.

ers€ 3llq( = 
32900 

=329 =3zg,ltz." 3t200 312
qdzoosirgnrfrFtasorfti= 

1r+ r x 1000)= 14100.

etfr efltarmfiFh$dFfrrfqr"
=(13 9+ 14 1 + l5'4+15.'1 +16.4+ 16.6) x 1000:(92.1 x 1000)=92100.

""fl= 
% = f I]9x r oo )"," = f 9x r 00 l% = 

4700 
% = r 5. 3yo = t 5o/o.

( e2100 / (e2l ) 307 - -

vrfrqflt 6'6rf{ffidE;qsffii
:(ll'6 + 124+ 127 + 12.9 + 13.8 + 14.9) x 1000: (7E.3 x 1000) = 78300.

fqfu ( so ao I r t I s irtf, ) r ++t qt 
"rfu6r 

{ t{q( q{ { o ueffi 66 r6i Erquedvrfr
f<qr rrql 1. * * qn$-o eiqfi qln F{qF€rFqd c[+ + Ef,( {fui.

( tq'toarlo qtcFt, zoro )
frm qqT { e aaqFrfr zm srfrfrd Hrq cftyn

k}rrqqFii*6-d

19:

aa:.



11.

12.

13.

14.

15.

qF< q{ zooz d q,qfi p anr eiffid elq z t erq + d, fr se ed Eq q'q-+ *,I qq f6f,{ qt 7

(a) i 30 IIIGI (r) r 15 EII€ (c) ? 23 EIr€ (d) ? 27 qrq (e) f{i t +$ Td

sd 2005 t q,q{ g rm erftta ew vfavn aQil r}q o.qt+if Ern erfdd srtsd drq rfr{rd t t+-ilril

er<i t ?

(a) 4% (b) 2% (c) 1% (4 3% (e) flt t qti rd
fr.d zoos i -oa RERI slffid dlrr r 18'9 EItI A dseadge 6q4 +1 ewffi fr?
(a) I 303'? dI€ (D) i 264 s ers (c) t 329 4 ?IIEI

(./) t 228 8 drcl G) g+ii t +ti Tfr

qd zoos t o'qd r *'erq vftvn i q{ 2oo4 61gffiI i ffi cfdqn qtd qg ?

(a)42% (b) 3s% (c'11 26% (A 48% (e)5{qt+'}iTfi

vrfr efl dgmft-om<qffi gfi sfs6 qN yfrcrd f+-f,fl qr?

(a) r3.s% (b) rt% (c) 12o/" (4 14% (") flq + +f$ Tdf

u. (a) : qr{r sd 2gg7 i 6.q.i p6r qq: ? x. fra | : dlir: t 2 1E[GI,

..?xq{dFI:21(ItIt

a 100 q( tlltl =
2.1er€I

-x 

100
x

2.ltllgxlo0 - 2lEIGIxl0o 2 lqrcI)'100 ,
x'1 '7

12. (6) : qd 200s t 6,e-+ n O r=* ts EqFrfr 6r eiq( eFI sfr$d

= 
(eiIl_l?l6) 

= 1g=s,..
55

e1fiq 3p61 : 119o7" 8%): 2%.

13. (e): rn-{r a{ 2008t6'ffiXu1 31Fl:?r.dFI:? 189drGL

re. r + 9 
= l 8. 9 drs =, = ] 

!j Efls f,-!!q 
= 2 I Erq x 100 = Fo 2 l0 dIEr' 100 9

.'. q{ zoos i 6E{ R 61 3nc = T 2lo dlq.

14. (e): q{2oo4t r 6,Ieu%= l0%,s{2009i T4,ti.t\%:t4%.
drq { gf6:4%.

dlqtqk %= = 40%
L

-x10010

H.rqqq+*E-i{

15 1c; : efi edi s+r $so orq vfr{rd - 
(7+8+13+-14+15+ls) u"=lu"=tzu"

)"



Frilt ( co lo 1 6 t 20 itrr ), {t fr r$ arfuqr { faFrq +q{reil + er<tf, qcr m c{ s
adqiEm{tw*qreq1<rctdvrdcft q{,tr$tf++rrr*ffi erqcrqr*ft qft fuc
vrt*Ym*fuq. (tatosrloqtqr, zooq)

frFra +fr{rcil + sr< td qcr ffi q{ s a.qFrfr em t qr rfi <re *t dt 6 ufr a{. )

16. { x i +s{r II d m.qn c' q, q{ * feq sq' {rft qqr *L d qd qr< yst trd {fu t t +q-€

{e {fu +1 z qd t foq c.qfi a +1 qtq-{r rr i 5+6q{r f{qT dn qtfiifr t sqt{d EiE qrqrsr
qrq t r+soot. at{Ilvffi 6?
(a) t 48000 (r) . 42000 (c) r 40000 (at l+rtfto rd fu'q qr srn
G){r,l t +t{Tfr

u. +.Er+ E qtqfl I + e<rld q-*-{F€ arq dqr 6qfr I tsn rv b er<ria qrtrnq qrq tfi t
? 1.2 drq 61{fyr c{ z sd { Eqfr r+1 qtqn t aqr qqfi z +1*q-tt rv *. era,lo mqq:
qFia qrq t*q f+-il{ er<rtnZ
(a) ? t42E (r) ? 1328 (c) ? 1528 (d) t 1548 (e) E{i t +$ r-d

ra. qqfi p qtq+ II h e-flfd E*-t[a qrq (eII +qfl rv * er<rh qrw(ql qre tfr t. qfird-d
i se o.qfr t +s{r rv ft' er<rtn t 25996 al F{i{r f6{[ nefl q*. s{ sK qru el5d tr{ +6-{
l q{ + fdq qtq{r Dt +n em ftqr. vsilqszsd +'ir<t si f+-f,fl qr tdqr ?

(a\7 28939.25 (r) ? 29E38.7s @) r 31748.25 (d) 1 31738.7s (r) y+t t +ti re{

u. effirt+ i +qfr r e1 q*qfu qrq qi qrd d-q+ rn t t +5000 61 2 qd +' frq fTiyr f6qr defl
qtfi i gcfr d {rfu qr q'qfi c +l qrtnrq qrq ti srd ctq{r rv * er<,ia z q{ t. fds ft+fl
f6qr. ffi srfu6 qrq 6q1q1 nefl tfi fl e1frr6 7

1a; erFrto, t tazs (r) frfi, ? 1875 (c) srfi{t6, ? 1962 (4 +*t, . ,ru,
(")r{qt d$qifi

20. *qrd i +.qfr z t qtqrq qrq ti qd +q{r r i r 30000 ien 6u1fi p 61 qs-{fg qlq ti
qrd t-q+ rr t t +9000 6r f{fu l6'qr. 2 qd qE 4-f,rd ERr ertda g;ld qre 61 {RT f6'6fl trfr ?

(a) t 14728 80 (b)- 17428.s0 (c)t 14827.70 (d) ? r6j2\.2o
(") F{i t 61$ T6{

1r- 1t@:



6tO.r! '+*q&R

Hrrqqrn*Ed
16, (c) : rfl-lr {s lRt : t x. n-q

(tcx9x2) * (xx9 5x2) 
=14800+18:r+l9r=1480000100 100

.'. 37r = 1480000 = , = 
1480000 

= 40000.

srd: {!r {frr : r 40ooo. 37

17. (a) : +'nrfi a61 qts{r It 2qdq;Tqrq:? (1.2x100000)

ersE rq-; {:t (24ooo - 22572): ? 1428

=. {rzoooo, L!91' :il00i} =. 1 
r'*oql los' g 

| = r rrrni- (loo)'z i t loooo I

+ryfr ; d d-q+ rvt z q{ or qrq : r {t"ry","} = . roooo

t(
9l+-

100 J,]

lE. (b) r qd t qr< frerrt - . lrrooo (t *1I t loo )=.(
25000x 109

100

EE.75

48000x

=< 27250

t zzzsoqroql*qrlvt t q{ fi qre = <
27250x9.5\1

100

z e{ * er< i fi-m E7 =1 (2'tzso + 2s88.?s) = * 29838'7s

19. (@ : ufrit+ gRr 6 al qlqql n1Q vrq arq
R

I +-
100

asooox!x!25 25
45000

=i (s2488 -45000) :? 7488.

frficm c+1t-q-{r ry{slqqrq
/+soooxlo.sxz ) : ? 94s0.:? l-\100)

qe t f*. frfi ql qFr6 trd : t (s+so - z+88) : ? 1962

20. (a) : +e-fi ,{ +1 d-w+ u t tret z qd 6,r qrq

48000x

I ,l]=.tt00045 .[(

t(

48ooox(lo9)2 -(too): ll00xl00 
I

:.
q.srfro+1d-q+

[:oooo,2!*zJ=. 
szoo

irt:e{alqrq
Il+_

100 I ,l]=.I {(i#l 
,}

t I

= ? 9028 80=.(o#)
srrft€qrq:? (5700 + 902E.80) : t 14728.80

/ 48000x 209x 9 \
I toortoo )



trfu (c" rTo 2r +25nir') , fr**Gnnufr{ o grfirl-3f,6rrfir6i + tcFr< ffiFt} {
6rftd qFffiil d riqr t .rg t W qnuft qr rfr-ffi erqct q,T t FmFafie-o c*if *, s-f,{

{M. (tafto*orrtqn, uoos)

6i; q6r1-q6q {r16{f i ftftr< fo{Fil { Erd'{il cfrEr3if * {@r

21. {'rer .e q nclr ut gffi ft-dr6( e[r{"d" fiqrrr d 6I4.d qfeets q1 {q aq {'ra{ 'e 'snsr
r t gm ft-or+r frwn fqqrrt t 6r4{d qle€rsi +1riqr +,t xqq, m eqvm t z

(a')59:33 (b) 96:31 (c)7r:19 (d) 71 :23 (,) {JIII t rhti rrd

22. {116{ O +'EflKr tqqrrr q 6'rd(( qf{€lsi d qf( rffifu f{t{rrr C 6'rd 6({I ct t Ee {Td-{

*' qffitq ffl{rrr i 6t{ra qFrdr ffii q1 v16{rd errqrr f6-f,<t ilfi ?

(a\ rgVo (b) 26% (c) tr% (A B% @) t5%

zl qS {,rdd ftl frerot tfi frrnrr t q'r4{d cfcf,id *1 sitsd{qrffit2
(a) 226 (b) 283 (c) 312 

, 
(d) 308 C) fli't 1t$ Td-

24. lirrd{ s h Sq"erR. fqqrrr { 6r4cc cffdtsif 61 Ti@I qafr drr6:ii d fi-oto-( qqo3fio fqrfiq d
6rdrd qfd€rsit +1 {@r sI ffi vlrvra t ? (<ffisq + 2 iiqii (6)
(a) t3'4s (b) ts'16 (c) 21'92 (d) ts'02 (') 5{i t 4t{ Td

2s. f6s {'rdi d Ga .ri qf frqrii n Ed{d qG-dr 6ffidt 41 {qr qroe t ?

(q)r (6)n k\u (d)s (")Fi!dr{r-fi

21. (e) : e[fre er{vkl = (320 + 415 + 225) : (150 + 190 + 250) : 960 : 590 : 96 : 59

22. (a) : a$e % =

23. (b)

24. (d) q1fr€ %=

0 78 +90)

078+ 300+ 415 + 318+ 127 + 90) ]"=[
x100

26E xloo
1428

: 18.10/" = lg%o

e1fre s+qn rirql _ (495 + 318 + 250+200+ 305 + 220) 
=,1698 = 283

6

i"=[
6
190 xtoo

1265
I ,ro ,,r,
It250 + 3oo + 225 + l9o + 1oo+ 150)

l

ffirravr+**.-e

: r'02%

iF.t,

)*



6il2 .
2s. (c) 7-+ (110 + 100 + 256 + 305 + 250 + 85) = 1106,

R ) (58 + 275 + 204 + 250 + 188 + 66) : 1041,
U-+ (60 + 150 + 225 + 220 + 168 + 35) : 858,

,S -r (102 + 190 + 198 + 200 + 190 + 75) : 955.

s€tfs'T€ yq q+cr t.

Frfu ( ro ro 26 + 30 ), *i t G qnufr { Fdrro qtr { 6 frFr< q,qf{i ERr foa-q q1
rt$ af{& at tqr ( e.tS d ) A rr* t y€ qrnft ET qrrg{e' orerrr{ a,r* trqfrfua uyrtt +
sm{&s.

frrrt qd { 6 ft xft ra qqRd Em tEn q a1 G XF{d sft {qr ( q.tgi t ) t rg t

26. frTd sd q f+'q Eqfl i sqiftro {€{ t fir +q ?

(a) Q (r)M (c)N (d)p G)Fdt+1irfi
22. s{ 2007 t +i .,rn 

1frd d e'Hq drn rtqr t{m-n t ?
(a) 407300000(b) 42740000 (c) 42740oooo (d) 4073000000 (d) 40730000

2s. q.qfi M Em qd 20 I 0 { A-i Ti {E-zr* E1 {qr, Hrt q.qFrdi Em su e{ ti rr} g;6 {|a} 61(cqr6Iffiqfr{rdtz (<vwce+ z stdrilm)
(a) 1.4.16% (b) 21.48% (c) 16.28% (O 26.26% (r)F{ilt+t$Td

zq. aqfi o arn qd zoos t nq q{ zoos i +i .,rn 
{f{d 61 {@r { t6-f,{r qd{ t ?

(a) 7730000000 (D) 703000000 (c) 7030000000 (d) T73OOOO}

30. tm's s{ o'qi z +1 ft-ed e{ +1 gc+ { n-n,rt 66i *1 q*, i yFcvm gB/qf {+m{ 6 I
-..(g) z-Q99- -. (b) 2010 k) 2009 2006

26. (b\ frfrra qqFrd em ftqn qd { tu a1 G lFrd d {qr
L -+ (107 + 80 + 28.48 + 38 + 26.5 + 36.6) 6.te : 316.58 6ts;
M + (175.1 + '16 + 31.38 + 43 + 27.5 + 32.8) 6i-s = 385.78 tEG;
N -+ (156.6 + 66.49 + 43.7 + 45.2 + tS + 4O.tZ) iE-i-s = 371.11:5-ts;
O+(112.4+78.24 +56.6+35.1+25.1 + 25) 6ts:332.44 6t€;
P -+ (95.1 + ll 1 8 + 53 2 + 48.9 + 22.5 + 37) ?Fts - r6t.tg +G;
Q -+ (192 + 72.18 + 31.04 + 42.2 + 17 + 30) 6-ts =:8+.42 $t9;
qe t t+ f+i qFl-+'-dq qf'rif ql riqr rr,r i ffi.

vt{t+tirfi
fu.} r1q qV=if;l ra

doqFn



l:ai6&]r.::::

2E. (c)

27, (a) a{ zooz t ti'ri aFrif +1 ertsd rtql

_ (28.48+31.38+43,7+s6 6+s3 2+31 04) *6 = 41_19 an-s
66

: 40.73 6ts : (40.73 x 10000000) :407300000.

ed zoro i N{ Enr +i 'tn {F{d 61 t@T : 32 8 6-ts.
qd zoro t eS q,qt+it errr tn -ii {f{d +1riql

= (3 6. 6 + 32.8 + 40. 12 + 25. 0 + 31. 0 + 30.0) 6"ts = 20 1 52 61ts
32 8 xloo

201.52
)"r. =328ooo y"=rc.zax
) 20rs2

29. (a): epfiq s1q1 :1112.4-35.1)6tq:773rrts=(773 x 10000000): ?73000000

30. (@: +e-fir,+1ffit:

srfq

qd zooo c qfr 
"z = (toz:ll,,or;* = 

1

27 xtoo
107

= 25.23%

" " xloo
80

4.5,- -- xl00
28.48

q{ zooz t qfi z = [lwul'roo;* =

qd zooa c qr6 % =(Y;X9,rc0)"/" =

ed zooq t 6n % = (I*ql",ro}/ = (

ad zoro i st6 "" =( 
r-!-9-'u',r*]". 

= ( fl,'*)"
qe t to +i zooo t qfr o" qrae rfi.

-lo1oo Y -2020 o/ =38 11o/o265 53

\ot =5ts2 u = a+ +r".
,80
)z=2?!9""=33 a2e"
) 2848

% =ll5o % =3o za%.
38

II5,roo)
38)

ffi11qo to 3rtrs ):{-*{GarFroT qriascif 2,4 C 26qTE'qfrsrfirr-3rmrr{fr+

{ qr{c{T ( <€ Hrq if ) t T$ t yrq,l qrrE++, q:qm q..r* Frqfafua cr+ * 3-rr{fqS.
1 f6 ffoulo vtEt, zoos )

n-d z, r, C D, E 41 graT-gi-fiq rffi d w<iqr ( <s arq t )

lr. e]rrs nq q++t t rrqrdqt{rem4I eE-<{ tff,{r ql?

(a) 3a0 er€ (r) 330 erq (c) 34 tIIcI (d) 340000 (e) {rrit 6t$ Td

)"

84

2i 0,

222'

19.,
: . ,85.. 

'i

il:i., 87::,lll'



684.,

32. ydr$ t ,rrrr< fr frs rrq +r q{{t@.r Ek rfd{rd qriTq qr ?

(a) c (b) E (") A (d) D
33. q{-{ft t sTT{nt{q,a dqrdEar{ e'rwvftvmgflaffit?

(a) 28% (b) 14% (c) zz% (O 2t%
34. s[rR{f6iA{r"frdq{d@r+*q ird{ qrfi sr?

3s. ts.s (rqEl q{dqr {-siftrfit,
(a)A (b)B (c)c (OD

C) {r,itdrtrfi

(e) t8%

(r) 5{q-tat$Tfi

(e) E
;Erflr]flTEl

31. (a) : errfre q-<r : QOt - 167) x l0 erq = 340 CnGr

32. k): E-or$ t srrRdq{{qlqksfd{rd:

33. (a) : ner I :61 q{dG{r d Efit I sTrrR i qf€ % ;

e -( )"rc0\t" =!o/o = t.s6o/o, B --)\64 ) t6

c -[],,*)z = 
slN 

=z.g+y", o -
r - [fr 

,r*]z = ffv" = z. tsv".

rqE t fu yf€ yftIl" l6,r qrirc 16r.

]1xto0
51 Y=#*=rr.45yo=28o/o.

(L,roo
I le2

| / xloo
[321

)u,=17u,=+ 
sau",

\n=446=r.rr*
) 32t

34. (e): aTR{:
(A- l) = 136 x10 dlq, (l - C) = 30x10 Erq, (, - l) = (263x10 drcr),
(E - l) = 25x l0 eTcI, (B - C) = l66xlo El€,(D- B) = \27 xt} Ens, (B -E) = 1l4xl0 Ens,
(D -C) = 293 x tO qrs, (E- C) = 52x10 clEI, (D-E) = 24lx 10 erq.
sqsct rnen,4 6r qm q+cq t.

35. (d): FreilqrD1rq d qfliqrwqtFrfit

fr fu ( uo qo lo t lo ) : {i { G arfrro.r { o q{ *, ehn qt.s eror-s[fifT wfir<tr+ t crgti cld qfrrfirfi+ at {@r ( EdRf { ) t II$ t
uFiI*,E{r{FqS.

waq-qqq oqqTi s werr-erarr smrqFr+ t
fr6l rrd-ffiq**, srq{rq,rhffia

1 dfa toeto vtgr, zo r o )
qrs +i sre qfrrqrfit at r{qr < rqrti t I



36. qd 2007 d srfi €r+rftd t T-d fr-or+l crs di srA erFffiIftii 61 etts( {qr ffi fr ?

(a) 1830 (b) 3660 (c) 3 66ErGr (4 183EJrs (r) ftH t+i$rt{
32. sd 2004 t sd zooq n-n f6s ef,nrfr i crs d+ srd srFr+rFd +1 rtet i va'qqk 6i z

(a) qB t-n (D) eRItiI Srd"geoqq'o 1c) t-+o rtt<r
(4 (a(err (e) *o$o(tEo nqr ttd-+

3s. 'q{ 2006 c'srgi-{r e[+'r<fr t qrs fi qrd qfrr+Ifid q1 {et nql qd 2009 t ilae-+, qmr<rfr

i qre di qrd e{ffi ql riqr ti m'qsl, et eqvn t I
(a\ 30:17 (b) 3:23 (c) 11 :30 (d1 45:13 (r) 5{iii EtiTd

39. q{ 2008 d d"\rqoq6o sr.FKfr t qq di qrA srFIfiIRt +1 {@I e$ sd i qe t-fl er+Kfr
t qredi srA e{firflfi11 u,1{@r 6r errqq ffi yfd{rd t ?
(a't t2% (b) 19% (c) 33% (d) 28% (e) 22%

40. €rii Efr i fi-f,rfi fo'q BrfiKfr t qrq di q,]-i srfirdrR it +1gR {@r sftlfdc t ?

(") qE t-fl (r) T€ t-{r (c) *Qn (d) T.wr (e) doge.quo

36. (6):

37. (c):
3E. (e):

qd zooz t s"ft srmrfr,if t qrs di srd 41{qI
=(2.4+3.6+ 1.8+47 + 5 8) x laaa = (18 3 x 1000) = 18300.

srqE Etqd riq = 
183=00 

= toro.
5

ee t f+ vo-qqf6 +Td rt+{ il Ci.
qd zooo d qrgt-{ qor(fr t qrs fi sld *1 (qI = (0.9 x 1000) = 900.

q{ zoos i ilg{el+ q6Kfr Q qrs fi qrd +1 {q = (3.9 x 1000) = 3900.

srsfte srjcn 9000 3
3:13

3900 l3
39, (e): q{ 2008 d {o((o(tFo tqrefisld61{ql=(64 x 1000)=6400.

s$sd{ qa t<r er+rq* t qrq dH qrdf 61{sr
= (4.2 + 5.1+ 7.7 + 3.6 + 4.5 + 3.9) x 1000:29000.

erse z =[ 
e00 xfi0b"=22.06ot = 22o/..

[ 29000 I
40. (a) : qrfl qqT d derr-erdrl q?ird t crq di qrcif 61g;6 ri@t nf€il t- td.

T6 Erfttrfi-dc q-e tcr t t.
Frtpr ( Eo ro 4r t 4s ), *i t :rf <rfuor { 6 ftftr< <.R}' t qfi E}vr-ct{r { H qre

ECtqat* 'qr ( arolt laqlvqtliqq+at+q?iiqreEqrdfuTrmt rsor qfr-ffit
srq€qr*fiurff,fu-(cr+tvf,{{frr+. (tq,ftoq}oqfrqn, zoto )

ofrfirawitdqaElprqftFrdHqresdqslif 6t' (Erqld)
irqT ysi qI{ E t-fr fri urat q.r wlm

fui.rnqrn*6cr

t:

i:l



..6Eoi..i.silFrk..,.

4r. rrR ct qfrfl ii qrd sffif +1 {qr c'R r t ytsil t+ qla sd'(qTtr 41 {qr or ffi
cfdsrd t ? (fr+-as 1l1- u*,
(a) 27o/o (b) 34% (c) 42% (d) 21% (e) 38%

42. nrR rt Ytqr i qq Eii qt rffi sl dgl ffi + ?

(a) 13000 (D) lll0000 (c) ll300o (d) 11000 C) E{if t qt$Td
43. Tl{Dt qtfl i S-€ gn sffii +1{sr qr rrn; t vfrmfr $-e gi set(+m^- t aq{r. er

q3qrdt?
(a) 289 :42 (b) 42 :289 (c) 221 : 50 (d) so :227 (r) flii t sli Tfi

44. rrR F t ct$ t vre gn uffi *1 {'qI q$ yr6t t frdrsl sfut d g'd tqr qr ffi
eid{n t ? (<{Tffiq + I $i+l iln yqffs-d)
(a) 12.93% (b) t4-46% (c) t0.84% (d) n.37% C) E{if tst$Tfr

4s. yAfl qfrsr i td dt qra iil;if 61vqiftrf{qr fos +n a1t ?

(a) F (b) c (") B (O D (,) rlit*t$rfi

4r. (b): 3nfre "/o-f 
108e €xloo)"2=[],9!rroo jy"=ry},,.

(3 r4erGl / (3r4 
' ,rtilrr" = *r"

42. (e) : :TtR E t qrq di qr€il B1 {qI =

1. 85 x 100000x1
5

: (185 x 600): lll000

a3. (c) : qlfre 3rJrn"

185 
xooooo

100

(1.25x100000)x1

(gl,zl=22i =zzt,so.(4 1s) s0

( )

tz zzxrooooolrl]

125 x I \
r0 .J=

(, tr"*,J),
(1.8sx60000)=l

t

t'f),(
44. (a) : {rfr rlnf t 3ffii 61gF {qr

irRrtcrqdiq1frsffidriq =

as. (d) : yifl trfrsn t +-d di qrd 41 {i@r : ....

1 25 ers xl = 0.375 drq, B -+ 314drqx = 1.1775 dlq

= 0. 60 H[EI, 2.2'1 dtl(l \ = 1. 7025 clrs

=0 74 EITGI,

: (1.25 + 3.14 + 1.08 + 2.27 + 1 85 + 2.73) drq : (12.32) drs
2.73 orq x1

t2
.5925 drGr-1

\ l9.l r drs

)rz

,-(

"-(
,-[

l0

1 08 €ro "i)
,.rS"*"J)

D-)

F-)

;)
t)
+)

;)

H'rqup.n*E-d

set frq6sqtfir+D+1t

2. 73 dru x =I1375EIIS



f{fu(To To 46ts0 ): **{Garfu+r{ offFragnrdf qlqqnai{+qr&cHqt{E4r
tm 1m s?qrq} Er qfi 6{f qre gtm, cEfi Bil *{ Eif ar uldvrd fdgr rqr t gq arttr*r u,r
srd-ffiqqfia,{+FmFefuruyif*.var{M. (tl'ofiosilocfrqt,zooe)

o fqFrq rordf a,r wrt a,{+ qra} afr tqr aqT y+o,T qr{ E{i
qre gt,+, cfrarfr stf{qEif c.r Yfttrn

46. s-drR E6r q.H4.{+ qrA {q} +1 {gI ffi t ?

(a) 27t72 (b) 2s361 (c) 23413 (d) 2r78r (r) F;r{Q'diTfi
47. qrt sflr+ q,r tr-drai qfi 6d qrd qfcdrd +1 elgd {qr ffi t ?

(a) 208s9 (r) 1876s (c) 19076 (d) 17383 (e) s;Iitd{rd
48. rorr< z m q* s{l sTd cffdreti 41 E;E {qI E,I TflR D ot qm o(i qrd qfcelfr +1 {qt

tXq{: qterdcl(t?
(a\ l:3 (b) 14:17 (c) 2314:6043 (d) 413:6'78 (") F{S{+irff

49. TdrR 6'51qq1E,,$ qfi q=if +1{qr ytqn r qr qfi s'(i qd Ed s1{q E'Iffi vfrvn
tz (<srree* z ei+l a-*yF+a)
(a) 3s.40% (b) 287'10% (c) 59'7to/. (d) t8s'40% C) !-{t++iTd

50. sdrK.F' 6r q{Fr E{i sla grfi s1 {qr 6 qS Eflid 6I q{r 6,.<i qrd d En {e{t s't qrtr{q

ffiyFd{rdt?
(a) 19% (b) 14% (c) 3% (d) 23% (e) 8o/.

46. (6) : veK E 6r qr{ 6.{+ qre Td +1 *i@I = frzlo,ffi )= 
zsaor

az. (4: efryerdt qrq+r 6'G qd qteeld q1{st

=(.rr,,,ii).(

.I
: ( I 1570 + 15939 + 1',7',7 32 + 30215 + 7246 + 21596) : 104298

3nfr€ stsd tsr = 
I 04298 

= I 73 A.l .

6

+ss+ox 
35

100

55
32240x:L

100

50
60430x-::

100
.(

.[,
).(

)
36230 

20

100

40

100
90x39

:::BIf(i
:r:lit::lil{:: iitAt:

''455i10:::l:lrtr i25lt

:iqryq::rrl

Hrrqusna;ra



688 . d-6rrfq(

3nfre..{qn =[..r*r"#),( oo+3ox 
5o

100

11570 2314
4E. (c) 2314:6043.

10215 6043

= 644849. (a) : sflK C +r q+t +d qd qEir E1 {@l = 32240x 
20

100

EflRAEIqfi6-{i sIa qd*1riqr = qss4ox 4o

100
=18216.

= 35 . 39o/. = 35 . 40o/.

50. (e): vf,rE r'6I q"l.{ s'{i qTA SFdi o1{q =

dr*.+*,r*o6qtilq1W{qr

,"fro z=l6a8 rroo)x
(18216 )

53990x 
4o

100
= 21596

= (46280 + 45s40 + 32240 + 60430 + 36230 + 53990)
:274710

arrfiq z=|, 2tsg6 xroo)x=z.so"/" = Eolo Errrrrq.
[274710 )

ffis 1 eo ao st t ss ) : *i fr q$ qruft { fqrrd qtr t ffi qfrqn t +} ffit+ +1 tqr
aqr s{6I vfrst rftvrd f<ql rrqr t Vq qr(Ufr oT rrfr -ffi 3{lq{{ 6{* Fmfu kr cy-fr * Ef,{
{M. 1 {6 toer}o vfrqn, zooe )

ft.rd q{ { ffi qfrSIr d tt ft rarft t+ El {qr nsT E{fiT Eff ufdvrd

sl. sd 2003 d riTqH rt g-frd dt qrd ffiHt +1 {sr <qr e{ 2oo5 t Iienr I t Tfrli di
qra ffiHr 61 riqr * frq *qvr, +n +gvm t u

(o) 95:154 (b) ls4 9s (c) 94:155 (d) 1s5:94 G) flSi+1iTfr
s2. qlfr q{ t {em l (QIr €pm o t qtsn { t} ffih s1 *€n {iqr fr frq *'qcr. €r' wgvntz

(a) 463 353 (b's 3s3:463 (c\ 46t 333 (d) 333:461 G) 5{it+{ Td
s3. q{ 2006 tf srfr rtefl=it t s-Suf Sqffitd 61 {@l ffi t ?

(a) 189s (r) 1e8s (c) tzes (d) t46s k) F{H tm$Td

.,,1+t'.1:,

600

,oo tuu

rexmmxww

wre ffiwg*

. .l..50i,."



ii:lr:ii{lt!ffi iiiiiiait6dili

54. s{ 2004 ii qrfi rtern t S.E fufl6,'( 3frd fi qla ffitfr 61 qqq sfr{rd tdE-ilfl t ? ( tffi-dq
Xof-onogft+<)
(o) 68% (b) 70% (c) 6e% (d) 1r% (") {ritfrirfr

ss. qrfr qff d {rrrrl c t itEl dt qrA ffiH +l Erqq qqq yfr{ril t+''il{r t ?

(a) 60% (b) 70% (c) 7s% (d) 5s% (e) 6s%

@
sr. (6) : 3T*e erJcF = [roo,9), [rro,+ )= g 

= + -r 54 : e5.- l\ 100, [ 100 / 28s e5

s2. (a) : mfr efr fr ; tqfrmitbffitd+1{qr
=(450+520+430+400+480+ 550+ 500):3330.

qtt qd t o t qfrcil q- +a ffiiif +1 {qT
: (640 + 620 + 580 + 600 + 700 + 750 + 720):4610.

3lrfie sfiqrd = 
3330 

= !! = ut . qat." 4610 46t
s3. (4) : sd 2006iqrfr {er<} tsfrotEqffit{f +1rter

).[,""#)-'(,,,,#).[?so,#)-.(.,."#).( 6sox 
6o

100

s4. (c)

__- 4055UX-
100

= (220 + 270 + 340 + 450 + 225 + 390) = 1895
qd zoo+{ qri {eri t+}i{ilftrd{@r
= (400 + 600 + 450 + 600 + 720 + 780) : 3550.

e{ zoo+ t gn sfrof d+ srd} 61 rtqr

: (260 + 450 + 315 + 450 + 432 + 546) = 2453

: (195 + 210 + t90 + 315 +300 + 340 + 282\:1832

+oox 
65

100 ).(
6ooxfl

100 ).(
45ox 

7o

100 ).(u,0,1).(,,,#).( 78ox 
7o

100

ilfre %=f?153xloo)"/.(3550 )
=4906 y, = ag%

7t

ss. (e) : \Irfr tfr i ctt)ffiffi olgnter
:(300+350+ 380+450+400+ 500+4701=2350.

srfi qfriictsfrof ffiffio1{sr
= (,,,#).(,,.,#).(3'0,#).(*,",#).(.*,# )
*(roo,j9 )*foro,jL)( loor( rooJ

3rt€ "/i, =
1832 xtoo
2850

=1664 o/" 
= aq. zg% = 65%

57



6q, . sit5ltFrd

nf+rren -l I

f{iyr ( vo co l t s ) : +i A Ir$ ilfu{,T d o sri am frFra ffi t rlqffi fc+'rnt
r'ro, rrfr-ffi s{qfi q.r* FrqFafut crn *. rm4PqS.

sor*amfefirafrE+dclqifi

1. fqqq Bq {f Brl} Em cmidf 6r Ernfi d€( vfd6 f+-a-a t ?

(a) 60% (b) 6s% (c) 70% (A 7s% (e) 80%

2. O Er{r gE qafr ffii i qrqi+. etdqrd t+-fir t?
(a) 68.50/. (b) 6s% (c') 70% (d) 67.'7so/o (r) Etfr t +ti rd

3. Eqq,4 d qfi BTii rr<r Srcvmi+:st t z

I
@) 461

1

@) a21
I(aa6-
t)

I
(b\ 42=

t C) grit+tiTfi

l. q$onl amFqqr t etrcr vreiq'q t z

ttll(at ttzl (bt t12; (c) 116, 1d1 lt6; te) c-{it+{Tfi

5. aErrrsfrffii t clqiq,, UERI s+fr ffi i qrqrqii 6r ffi sfdsn t ?

(a) 82o/. (b) 83% (c) 8s% (d) s7% (r) r+{ t+tird

l. (e\ : 3{1frq % : (52+ 66+ 68+ 55 + 70+ 72) 181xtoo
480

%: 80yox 100
],.=(

2. (c) : a$e Z=

(6x 80)

(42 + 66 +85 + 92 + 105 + 100) 490 
xtoo

700
=70%

(75 + 80+ 120+ 125 + 150 + 150)
x 100 l"=(

3. (4
(4O+42+36+45+60+54\ 277 IgllTiq 3tTsfl = :-------------- --------------- =-=46-666

riiorfr
i 5zi

rerw
wm

Hrrqq9-+*EE

a. (6) : urfre Src _ (120+100+98+90+130+135) 
= 

673 =tt:l666

)*



5. (c) : .R ERr E$ ffiii yrRis. = (36 + 68 + 105 + 99 + 100 + 98) : 506.

uEm sfr frqii { vr<iq. : (54 + 72 + 1lo + 100 + t2s+t3s)=596
qHI 506 = 596 :E,l x9o. irs 596 . 'r :506.

100
506x 100

= 84.9% 
= 

85%
596

ftfu(uo co o* ro ): *itG sREfrdqlw+,4iTsrrBtrrln{@rtfururfqcrrcrt
Esm'r qrrT+{ olsaqrfih FlFfrfo-r crfr * ym{Fqq, ( C[a6 toeilo qfrqn, zooe )

2 rrql 4 nqr B 6r v{iqr fu{ur

5. {rel I + qr*ur srl t feii +1 {@r nqr {q I + erd-yrfr e,l t furit +1{qr ql a'qvr,
ergvn t+,a-+ t ?

(a) 3595 s324 (b) 427s:62'72 (c) 6212:4275 (A $24:3595 (e) {+d t +i$r6{
7. {lql + qd-rr6t Erl d grtr 6l tqlEq {rq 61qfiE{I 6,1 6qrrr ffi-di yfr{d t ?

(a) 22% (b) rs% (c) tt% (d) zso/" (e) 18%

e. +i {r"ir 61 $-d fiq16r yrfrqr s{ t gdf +1 gre rier ffir t U

(a) r894s60 (b) 233s6s0 (c) 21617s0 (4 2o424oo G) F{itEtir-d
e. {rq B+ vefr sd t y€dt 6i rtqr G;n-fi t ?

(a) 1850210 (r) le6o500 (c) l8os?00 (A l9o'tsoo (e) e-$t+tTfi
1e. 1q6{ffif+lgnrierffit?

(a) 4030000 (6) 3175000 (c) 4182000 -(d) 30s0000 (r) r-{qt:ht$Td

6. (b) rrq / &fifisrq{tfq4i+1ri@r= f,r.rrrooooo,o" II loo ,
{rq B } srd-{r6t q,l t fiHdi 61 riql - frr r, ooooo, l1'l
3T!fie sf,{qrd - (22s t 4i5ot : 02. o, . ,[oo, - orr, , ir'lr]
{rq I + erd-Yr6ft q'rt t 51'rii 61 {541 : 26dtts 61 54%

: (225 x 47 50)

: (32 x 49 x 1000)

k}rlcrn*Ed

7. (e)

\4
2600000x-:-

100
:1404000

47,

a,



602 . sitfllFril

srsq%= 1404000

-xIt 

0
7900000

%: l7'77%o= 18%

8. (c) : tfr rrql +1 ftGr6{ Tr*ur qrt t g{di 61riq,
: (22 5 x 100000 x 52.5%) + (18.5 x 100000 x 53%)

- (225"rooooo, 525 l*l,]!l",ooooo, t' )
llo ro00] llo too)

: (l l8l2s0 + 980500) : 21617s0.

rrq.a * w-t e,l t Ertr Ei 14qr : (rrrrorff )
e. (d)

r0. (a)

:1907500.

rrq a d ffii +1{q : (18.5 Encr 61 47%) + (35 tlrcr iE[ 45.5%\ + (32eIer qr 49%)

32ooooox 
49

100

trtvt(r" rTo lt + ls) : +itT$arfuqr{qq,q,qfr+ saFri6rrfrFta 64nvr
arewt (p) aqeil q1 {@r ( Eqrif t ) t'r$ t. f{6r rr$-ffiTS+q srrcl q,,rt Frqfrfu(
vrfr*vtr{tut
f+rd qd t ffi q,q+ *, s qFr& gRT fr fi td 64 aqT Qreryt py qq3fr E1 {qr ( E-srft d )

1 1. {i{u w ERr f{Ffd eqfr t t for a{ ffi <qsir *,r cftqn e-qttrfr qr ?
(q) 2005 (b) 2006 (c) 2007 (d) 2008 (e\ 2009

t z. {F+a I t t+e qd d ft-ed a{ +1 ge-rr I tTqtq t yfdlrd qkrfim ssmr+. fr ?

(o) 2007 (b) 2o1o (c) 2008 (A 2006 (") (={ii t+t$Td

13. fEA ,tt sfr d dt r i ffi eqoii +1 stwd (qr ffi t ?

(a) 21500 (a) 7000 (c) 12s00 (4 1s000 k) {{qt+ir-fi

: 
(, r r,,ooooo,#).(rr**,tt;.1

: (869500 + 1592500 + 1568000) = 4030000.

r:'IVi:r

i:rD.:: ,D

q:i.t:l

::is8:ai

,i57a:r i.:11i'i
:.4,7e.

tiii::

wMwww



1 4. q$ f<t Tt qfr { at+a m em fiFfa g;e eqeil +1 riqr q,r I{ sfr q dirc v aRr frt{d E;E
eqeif +1*iertwr oqvntz
(a) 353:282 (b) 282:353 (c) 457:2ts (d) 215:4s7 (e) f<fr t siltrEt

1s. sd 2010 d qfi f.rit em frtra eqeii a1 {q +1 9+n d <}qf eg$ +r rftna a.nrr
fq-{il qr 7

(a) 42% (b) 40o/" (c) 31% (d) 33o/. C) E{qt+$r-d

11. (e) : 1fu rval iwgll eSsfr *l yfdyrd

2005 J 4x100
56

% = 37.5%, 2006 -)
)l:- x 100
63

%:38%,

2007 -+ i9x1oo
68

12xloo
54

%=35%,%= 44.1%, 2008 -)

1lxloo
40

em: frz rv i iqf eqeif or fwa elFr+cr 2009 d e[

12. (6): {f{a I+f{qfu{.

2OO9 -) !xrc}
48

%:56Yo, 2010 -+ %:3',7.5%.

2006i6.fr%= %=s.7%, 2007dEF6%= 4x100
49

%=2%,1xlo0
52

2008iqE%: 11xloo
50

%o=30%, 2009 t 916 %:

zoto ti 6.fr Z : )L1x 100
70

o/. = 34.3Y"

€rd: z16 6fr % q{ 20lo t Tqtfirfi fr.

axt00
65

o/o:8yo,

13. {d:{tu rrtffiqq3if El 3lrsa{ur: C!qI#@ *
90000: _ = 15000.

la. (a) : Ri rri edf t 1fu u am ffifu q<st d {qr
= (76 + 45 + 55 + 57 + 82 + 38) 6qR : 353000.

fsi,Ta sfr i diz v Em f{ffd qqot 61 {cqr
: (46 + 36 + 34 + 48 + 58 + 60) E-qK : 282000.

3rfrra erJqln : 353000 : 282000: 353 : 282.

Hre'uT-tiq.6f,



694 . eiiFrrFrd

15. (D) : 3{sfre % : I l5+22+32+15 + I t rgR
{ _x luu
[(44 + 56+ 3E + 40 + 60) 6ER

o<
-1x100
238

%:40y.
]"=(

ft t$(qoro16i20):++Aq$arkqrdffi rrqqlft fi .a3{rt-qqTdcfdvrdv{tiqr
t G t Vc ErFffir q,r qmtf6 qqfi qrh ftqfafua c{-+ * sin{tc}.

ffi rm at frfira art'g-ad { uFavn w<€un

to. t+s eru-q,t { srfrrfi-dq q-{iqr t ?

(a) t6-2s (b) 26-3s (c) 36-4s (d) s6-6s (r) F{St+tiTfr
17. y+dr 4200 q{, 2s e{ t 6q urg $ qFfi ffi t Z

(a) 2005 (b) 1260 (c) 746 (d) s15

lE. qtq i6 s{ t 6l eng * <k zooo eru it, fr so-os urg-e{ * ffi efm t u

(a) 300 7 dI€ (b) 157.5 tlrGt @) l27 2 d.tEt (d) s93 drGI

19. qR s6 qd nqr Fqt eftro eq*et< r oi-sdt, fr ro-zsaq+o-ss arg-ed fi eFmdt E,r

3r<( Fs-il{r t ?

(a) 68 dro (r) s6 ?lrEI (c) 284 dI€ (4 347 elrGl

20. qG 46-55 Rerr 26-35 *' qd 6'1 3rfl t 17 5 Errq dt, t rFc +1ge w{er ffi t ?

(o) a oi-c {}) 3.9167 6'.t-s (c) 3 6 st€ (d) 4.6 6tg

16. (e) 17. (a) lE. (r) te. (b) 20. (b)

I sc-osii:i{Gi55.!!!lt-,!,fl ,.iidfla*{ll:i6'i6:i:
,lffi'*!ri,.,:
:ia*ifi&i:i

:174.s.g:;Wh'.
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